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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in_zero mark in that question.

D C B A Questions / < iy 7
bl sl - £ :4.--,-@.-4!_{1 4x +3y-2 H
Inequation Equation Sentence Expression 4x + 3y—2 is an algebraic :
- 2 _/ - e dnderiewd Lo 7 |
B \ The symbol used for approximately is :
e .,»u\ F ot £y | swEn 57, el ";‘wu/ )
.~ : : . : triangular region means the ---- o
Intersection | Compliment \ Outflines Union {9 zle and ifs interior :
pLiiie i ~biie s _il# dn S f |
Non-similar Similar Piallel Different In shape congruent triangles are :
— D et el a |5
Va? (Va)? JZ\ (@) I kit
\ \/; is usually written as
St S5 & S5 Ju g b o e LE g | O
Unequal Un-parallel Parallel on-congruent | In parallelogram opposite sides are :
/ L/&JL—&{J---J'/Q—/”vgé-&IJZ:w 7
1:1 2al CER. 454 The medians of a triangle cut each  : (f
other in the ratio ---- :
yi=x x“=y g¥ =% ez If y=log, x, then : :?ﬁy=10gzxj! i
B JY x? +dx + méf&fgj{ “m” | 9
\ ! =t . Find ‘m’ so that x* +4x + m isa K
complete square :
i . o - s 8 e 10
e 22 OURE e ae !
1860 1858 1856 1854 S S e L2,
Arthur Cayley introduced the theory of
matrices in :
1 : ¥B(=1,1) 5 A(2,5) s |11
( 5““') (L6) (§,2) (3.7) Mid point of the line 9):'5(3‘?/:
segment joining A (2,5)and B(~1,1) is:
z ¥4 /e ;g Iégﬂfwl‘?dz:'/,d/ui"'-«- 12
Two Three Four Five Equality of --- ratios is called proportion :
e cr Sl x-4]=—4 |
{8} {0} {} -84 y "‘fl |
The solution set of lx—4[ =—4 is:
. o2 14
) P / -
g+l @-1) | *@+1) | (@a-1) & ‘;/)““-’K" 2 +1
The square rootof a® — 2a +1 is—-- :
e A G (L _ o |15
Point (-3, — 3 ) lies in quadrant :
175-022-1-(Cbjective Type)-37500 (5195)
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12 2. Write short answers to any SIX (6) questions : : o A2 A L ey (6){:..6/ 2
(i) What do you mean by order of a matrix? St ez pl M6 ()

i) IfA{:) ﬂ,verifythat (4Y =4 (4 =4 SEFA A:{:) ﬂ/ﬂ o

~4/3
(ii1) Simplify by using laws of indices : (“8”) D 8wl S LGS (i)

125
(iv) Simplify : o A gyf % é/‘"" ()
(V) Find the value of x when log;x=4 logyx=4 ,ﬁép"”:é‘fx )

(vi) Calculate using laws of logarithm :  log, 3 xlog; 8 :’4.";(""‘.",24;;,» J@fl}'ﬁ(‘?/@ (vi)
i dab Ix a-b=3 sa+b=7 S1 (viD
(vii) If a+b=7 and a—-b=3, find the value of 4ab
(viiD)  Simplify : 2243531015 25 A (viid)
(ix) Factorize : 12x% —36x +27 ZEGF (ix)
12 3. Write short answers te any SIX (6) questions : o A2 AL iy (6){;{3/ .
(i) Use factorization to find the square root :  4x*—12xy +9y° :é")l”'d/'/}?di.f/)& €y,

W

(i) Solve the equation : -?—x - é—x =% +% el (D)
(i) Solve : |2x+5|=11 2 GiD

-g{(}”uﬁJc 2l m,vféi./ﬁwuﬁy=mx+c/2x+3y—1=0 bl (V)
(iv) Find the value of m and ¢ of the line 2x +3y —1=0 by expressing it in the form y = mx + ¢
L Clig2x—y+1 =00 (=1,1) BYSZEIS V)
(v) Verify whether the point ( - 1, 1) lies on the line 2x —y + 1 =0 or not?
(vi) Define right angle triangle. v -’é.é{/?g(wd;u,fﬁ' (vi)
A(=8,1),B(6,1) : &k Lebpnlusinl s (vii)
(vil) Find the distance between the pair of points : A(-8,1),B(6,1)

(viii) What is meant by H.S = H.S ? fe /ufc_d"-/, = &2 (viii)
(ix) Find the value of unknown m° and x° : é(}‘” - J x° sl m° A,W()’"L (ix)
L
mno ,Y‘;
14 . x N

12 4. Write short answers to any SIX (6) questions : é.«w AL =iy (6) ic..(;:( 4
L Eed i moix Mu“ LNO s LMO @t wJu; )

(1) In the given congruent trlangle LMO and LNO find unknown x and m :
L

( 2'&/} )



(2) |

S ST o LT me b i 3USE o Lo =255 G -4
4. (i1) If3 cm and 4 cm are lengths of two sides of a right angled triangle then
what should be the third length of the triangle? . R
. (i) Define congruent triangles. -é.éj/gfut’;@’u" R ¢1))
Gads sz L Led S x 17 wx 8 AUl el (iv)
(1v) The three sides of triangle are 8, x and 17. For what value of 65 bbb
x will it become base of right angled triangle? '
a=5cm,b=12cm,c=13cm: uiﬁ”gg_é,@‘dﬂ/l:;’ﬁ’.{t ug’y’JCM&.ﬁ»@fo;af (v)
(V) Verify that the measures of sides are right angled triangle or not
a=5cm,b=12cm,c=13cm

(vi) Define altitude of triangle. _é_g/.’.u@@/liw (vi)
(vii) Find the area of given figure : I éi:(;h"}/(yfd; (vii)
|
4 cm

mAB =3 cm, mAC=32cm ms A=45° Ui &t AABC  (viii)
(viii) Constructa A ABC, in which: mAB =3 cm, mAC =32 cm, ms A = 45°
(ix) Define centroid. Ay SCa WS, (%)
( PART 11 (132 )

Note : Attempt THREE questions in all. -9 /’Jlr’dg ~a£7.=,u.e£_~,myd gf 2y
But question No.9 is Compulsory.

5. (a) Use the matrix inversion :’c{d’:{u?uv;u&uﬁ'dﬁéuﬁ&' (h) 5
method to solve linear equation :
4x+2y=28
Ix-y=-1 )
(b)  Use laws of exponents to simplify : :2:.".:(/"}:_,:,«.(,(@: Wl Vey ()

@n" .3~z

(9™) (3
6. (a) Using log table find the value of : :é()’”ogcu&)ug//@ (h) 6

(1.23)(0.6975)
(0.0075)(1278)

(b) Simplify : 1 L 22 - 44 &S (L)

x‘l‘x'i‘l x“+1 x -1
e LSk TndnE 3t —dke-ak? G (xe2) )1 (D) T
7. (@) If (x+2) isafactor of 3x% —4kx—4k> then find the value (s) of & .

(243)

(b) Find H.C.F by division method : :é;{(yt”(y!:bﬂ:ﬁ 25 (&)
) 20t 4 x =3, 50 +3x7 —17x + 6
8. (a) Solve for x : 3:15)6 ~§=—§~ LI (D) 8

: gwt'édg,uémmé_uABC &L (&)
mAB =4.5cm , mBC =3.1cm , mCA=52cm
(b) Construct triangle ABC , draw bisectors of its angles
mAB = 4.5cm . mBC =3.1cm a mCA =52cm
-w&uxﬁﬁyw;y“écwv&wﬁféa& 9
9. Prove that the right bisectors of the sides of a triangle are concurrent.
OR

L
- “JQ}'Z/.’{J:.}/uu,vr/.l/.CL&‘;/U)ig.ﬁGLgegﬁ.ﬂy&' ” chfb
Prove that ™ triangles on equal bases and of equal altitudes are equal in area™.
175-022-1-(Essay Type)-150000
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in_zero mark in that question.
D C B A Questions / Uiy B4
: V2 0 V2o o] |1
N ).CC dl,«n U’/J [ \/EJ Id‘..ﬁgb‘v'/b'fw--_/{ . J—:}
Singular Scalar Unit Zero 0 2
is called ---- matrix :
oSS | LEF | P | LE s ki AT 1 | 2
. Negative Rational iive it Every real number is a ----- g
number intgeger e Positive integer b U 1 :
¢ ‘grn-,__,u?ixm&;uwd’/ I sws 1|3
10 - 0 1 The logarithm of any number to itself as
base is ---- :
e Ml a b P |
o | NassB | aodB | asap | el
Conjugate of surd a+b is -
S 22 vax + mE eSS T |
1% 4 ~ g Find ‘m’ so that x* +4x + m isa b
complete square :
te e X =6 x — 2 | 6
x+2 x—2 xX+3 2 +x-6 = (jj g 5 rohex i
HCFof x =2 and x" +x—6 is----:
x> 10 x <10 x <10 x> 38 eI 38 102 xS | T
If x is no larger than 10, then ---- :
v 111 11 1 e SOLGE (2,355 |8
Point (2, —3) lies in quadrant :
(- 1NN (0.1) (1,0) (1,1) e B 60 ,0) 21 (2,20 )
Mid point of the points (2,2 )and (0, 0 ) is ---
y 0 1 3 I‘L‘:p)’i ----- ,:U."G'Jiwu/ 10
In a triangle, there can be right angle ---- :
. i ) LB ndusf e side Ly s, i | 1
Py S5 — B . N 7
Perpendicular Parallel Proportional Collinear If two ISIECEUIIE fines : i
form equal adjacent angles, the lines are :
) , eI s 5 S e B0 LS | 12
i Jf’ sl Lu,zmu’;;;/ ‘ 835 ) d./ JJJ f/ ' Ny JL}
Trapezium Rhombus Triangle Parallelogram If two opposite sides of a qua@r}lateral - X
are congruent and parallel, it is ----:
e b UL 55 [ qimt i | 13
LSl B - f A, ‘f *’”t ~ff’v’”Lf~.“"
Equidistant Collinear Proportional | Perpendicular Hy PO OlNiRE DICCCIOr oL an angieris
from its arms :
s o Je &l Iegmf%ﬁdz'w(ur"fj-—-- 14
Two Three Four Five Equality of --- ratios is called proportion :
o L o .. > ~ 115
v s e Eueuis iz O n90° 13 16 ]
. ; ; A quadrilateral having each angle equal to
Rhombus T'rapezium Rectangle Parallelogram 90° is called - -

176-022-11-(Objective Type)-29000 (5192)
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12 2. Write short answers to any SIX (6) questions : g:«&lﬁ/""‘ L =y (6){:.&/ 2
(1) Define matrix. Il D)
(i1)  Find the product of [-3 0][ SJ = o]{ gJ-é&',«ﬁJ‘ b (D
(iil)  Simplify : (x3)2+x32 , x#0 24 (i)

~4/3
(iv) Simplify by using laws of indices : (%) D B il Sl G ()

(v) Find the value of x when logg 9=x logg;9=x féé})’”&fg{x (v)
LSS KionS 10g 25-210g3 (vi)
(vi) Write log 25~2 log3 in the form of a single logarithm.
oI @b I a-b=6 s a+b=10 J1 (viD)
(vi) If a+b=10 and a—b =6, find the value of (@ + 5°)

3 - R .o
x=3,y=-1,z==2 & 22X"=% = ’C,{f}’"c‘{ (viii)
z

X.
(viil) Evaluate xzyx; =z while x=3,y=-1,2z==2
(ix) Factorize : 3x - 243x° ZESF (%)
12 3. Write short answers to any SIX (6) questions : : o etz A L iy (6){4:.(31( 3
(1) Use factorization to find the square root of : = e E i (D)
- 4x% = 12xy +9y?

(iD Solve : |2x+5]=11 2 G

(ii1)  Solve the inequality : 4x-103<21x-1.8 :éff.:abl//:; (1i1)

Ul -y + 12001 (2,3) BSEIS (V)
(iv)  Verify whether the point (2, 3 ) lies on the line 2x —y + 1 =0 or not.

(v) Define ordered pair of real number. HEy S, LA (v
(vi) Define collinear points. -é.g/Jb@ufUﬁ (v

A(6,3),B(3,-3) &b Lbgpnlses (vii)
(vil) Find the distance between the pair of points : A(6,3),B(3,-3)

(viil) Define S.A.S. postulate. -éw}?i(f;}’b/&f.’—}-u" (viii)
(ix) Define parallelogram. -’jé...y/ufcwvdm (ix)
12 4. Write short answers to any SIX (6) questions : : "‘.gc:«w? /"'; L =iy (6)43:;.3:( 4
(1) Define angle bisector. —é\)}/ijté,«:}u )

?‘al’t,)U(A,&"jfm;'v&bjhb.zﬁv:{c_fqdﬁ&ﬁadﬁg@ié{aﬂ&:ﬁéb& (i)

(i1)  What will be angle for shortest distance from an outside point to the line?

(111)  Detine similar triangles. Ce sl e i mliie (i)
(1v) Define Pythagoras Theorem. S et e (v)
(v)  Define triangular region. St e JUcC‘b (v)
(vi) Define centroid of a triangle ~é_.gf/7Jl’!}"£¢:fl?* (vi)

(Zidn)



4. (vii) Find the value of x in given figure : : é{)”o{g{x (:J“”Uu:f (vin) -4
4 em o
> e x 3 .8
(viil) Find the area of the given figure : : éf;l”,}'/&f” (viii)
3C'm
Yem

mAB =42cm, mBC=39cm, mCA =3.6cm : iU &k AABC (ix)
(ix) Constructa A ABC, in which : mAB =4.2 cm, mBC=3.9 cm, mCA=3.6 cm
( PART 11 (})/7 )

Note : Attempt THREE questions in all. -4l 9 /(Jlrug & :.«U.N::aﬂird gf 12y
But question No.9 is Compulsory.

3 -1 p. 3 -1
4 5 (@ If B:[z ZJ,thenﬁnd B'B e BB !sB:[z 2} S5
. - aQﬁ a2m a2n \ éf e
4 (b) Simplity : o | (e a"“) e A (L)
4 6. (a) Use logarithm to find the value of : :épin,é;u.Jf/w (") 6
0.678x9.01
0.0234
4 e 5512500 2216y Fr xy=6 1 Sx-6y=13/1 ()
(b) If 5x-6y=13and xy=6, then find the value of 125x> ~216)°
4 fp(x):4x3—7x2+6x—3m 31}(x+2 ni[.:»fgffd/mf&(()" h) 7
?@/ﬁf‘”ugug
7. (a) For what value of m is the polynomial p(x) = 4x3 = 7x% +6x-3m exactly
divisible by x + 2
4 (b) Simplify to the lowest form : 2L il ()
X" —B 23=1 x+3
2 ) ® o
2x“+5x-3 x“+2x+4 x"-2x

4 8. (a) Solve : &Bﬁ*le——g ’c‘{f (n) .8

4 : zéf:aﬂuéug,u séet: AABC (&)
mAB =42cm " mBC = 6cm m(—f‘! =52cm
(b) Construct the AABC and draw the bisectors of the angles :
mAB=42cm | mBC =6cm mCA =52cm

8 -wa‘.n,&ﬁ(ﬁyuéuyuuiféwuj S 9
9. Prove that the bisectors of the angles of a triangle are concurrent.

OR i
Zo, )unc’uug/uaibu/ S3152 & 5066 2GS 15 Els o 6§ S S5 =t
“Sustsis S 3 (Usgl LS

Prove that parallelograms on the same base and between the same parallel lines
( or of the same altitude ) are equal in area.

176-022-11-(Essay Type)-116000




